Trillium—128 with Hapa 2

Locl~HP-IB 35665 Adrs: 19 Plot Adrsi 5
Blue — Ground + Inst. noise
Prnt Adrs: 1 Disk Adrs: 3
Green — Trillium—128 Inst. noise estinate
Date: 8211712 Time: 28:38:88
iH F4 PSPEC1x{.] Hi9.FB6 rHz ¥Y:—-1F6.895 =
B: F3 Fa4={K1-50R Hi9.766 mH=z Yi—-177.284 =
—-38 ¥ = dEVAA =2 Arm
¥x = dpUAA%2Yrn —
-9@ \
dB Mag /
H_—q"‘-——__
18 —
. — 7
div
dBE Mas \\
18 .
dB 'Illﬂ
div
N by
Pl /
— Sy
EQM
i 1."“”“5""
—198 1 [
_4—'—'_'_'_'_ ——'-FFF'-FFFJ

976.063uHz

976.963uHz

OULD

ovLD

AVG:

AvG:

77

77

78L.25mH=z

F8l.23mHz




Meas Data

[FFT]1

Date: 8211712

A: F2 PSPECZ={X.]

B: F3 F2={{K1-50

dB Mao
1a
dB

Sdiv

dB Maao
1a
dB

Sdiv

—-198

—198

Data

Coord A:

dB Mag

Time: 28:38:808

Data

Coord B: dB Mag

Mapa 2 with Trillium 128

Blue — Ground + Inst. noise

Green — Hapa 2 Inst. noise estinate

¥:9.766 rHz Vi-169.794 =
19.766 riHz Vi-178.183 =
Y = dgUAJA=? N1
Y= = dEVAA%79rn - \
.
EREE / |
h\_\_\_\-\_\_\_\_\_\R_‘—\—\_
- X M
“y
\
A \
\ i
AL b
o= |
[
%w an .1M-n

976.063uHz

976.963uHz

OULD

ovLD

AVG:

AvG:

77

77

78L.25mH=z

F8l.23mHz



Meas Data Data A F2 Data B: Coherence

[FFT1 Coord A dB Mag Coord B: Real

Coherence — Trillium-128 " Mapa 2
Date: 8211712 Time: 283888
B: Coherence Hi195.273 mHz ¥:999.868 -3

Real l"’

188

e-3 U

Sdiv

976.963uHz ovLD AvG: 77 F8l.23mHz



Heas Data Data A F2 Data B: F2 Mapa 2 with Mapa 3
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